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ECONOMICS
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Paper : ECO-HC-4036
( Introductory Econometrics )
Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
wor PP b fi |
(a) Mention one importance of normal
distribution.
ST B B SRRl Tea 3 |
(b)) When is F-test used?
P-oR1] (IISU KA 91 W ?
{c) Give one property of t-test.
t-+HI GO1 CaPR o
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Mention one cause of heteroscedasticity.

REafiver o1 24W $R9 Seay 9 |

When does specification error arise?

Ren R o fom Tea =z 7

What is linear equation?
R 09 2

Write the full form of BLUE.
BLUES 579 |io[ fo= 1

Define coefficient of determination.

ATE W2 A= o |

If the error term is not distributed
normally with 62 variance, what type of
problem may arise?

It b oMb MYRT RFot® g o 2fomer
T, (SCIR'TA (AR TR T8l 2'7 2

() What is critical region?
w6y cra 2
2. Answer the following questions : 2x5=10
o PR Tad fad o
(a) Mention two properties of estimators,
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(d)

(e)

(3)

What does an error term represent?

(b =% 9% & w2

Mention two sources of autocorrelation.
FICTRTITR 7ol S S 0 |

When does heteroscedasticity arise?

fanfReem efon Teq = ?

Distinguish between one-tailed test and
two-tailed test.

- RRNE W R-EREE RN TS
Nl fera o

3. Answer any four of the following questions :

5x4=20

wmﬁmb‘rﬁmmﬁm:

(a)

(b)

24A/704

What is normal distribution? Mention
the properties of normal distribution, 1+4=5

YRGB 1 7 YRS I69 BRI fora |

What is hypothesis testing? What are

the various steps of hypothesis testing?
1+4=5

R e B2 aow AR (e TER

forn |
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(c)

- (d)

(e)

(4)

Explain type-I and type-II error. 5
2T 4PRA b W Bew AP @e Irm

ol |

Explain the concept of regression.
Discuss the importance of regression in
economics. 2+3=5
SARER YRS AT 391 | FAo SRR
QFG H=ACE SICABAT F47 |

Distinguish - between multicollinearity
and autocorrelation.

ITTTTA UF OGS AIdw
HIceToAT 41 |

Explain the method of measuring the
goodness of fit in a multiple regression
model.

| YA wWiRe Sy @ere [y ¥R
ARSCHT ML 1 |

4. Answer the following questions : 10x4=40
o PTYRe ed fd

(@)
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Estimate the regression lines from the
following data : 10

frafeie ©™ /1 X3 €/[{e Y4 JErEd @9
G 41 -

X : 78 89 97 69 59 79 68 61
Y : 125 137 156 112 107 136 123 108
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(b)

(c)
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Explain the consequences of auto-
correlation on OLS estimation. How can
autocorrelation be corrected? - 4+6=10

OLS Yoo TATIITR TAReE@E M
91 | @3 ST (@ SIedR A< 2

What is test of significance? Mention the
various steps associated with tests of
significance. 3+7=10

Aol *_Aw 7 MdFE ARNFR a5 Fioo
MMCTHPTIR TCEd 0 |
Or / 941

Explain the consequences of multi-
collinearity. 10

IPTRTIES AR A 47 |

State and prove Gauss-Markov theorem
for B; in linear regression model
Y, =B¢ +BX; +u,, where By and B, are
parameters and u, is stochastic term. 10

TR-TRFS IO TG WF 4409 [ | TS B,
% B, 269 =W SF u, o MW |
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Or / 91

Distinguish between null hypothesis and
alternative hypothesis. When is chi-
square distribution used? A random
sample of 5 students from a class was
taken. The marks scored by them are 80,
40, 50, 90 and 80. Does these sample
observations confirm that the class
average is 70? |[Tabulated value of
t =278 corresponding to (n —1) d.f.].
2+3+5=10

e S orF s SEme w9 o< fon
chi-3+f o3 @M I9TT 41 W ? 9ol &R
5 & I T SIS G| ¥ |
o 799 3% 80, 40, 50, 90 HF 80
W, 9% WACAI A ARG 1% 70 I
ofas FEA? [t=2.787F CfRpE IH
(n-1) d.f 3 I8 S |

(d) Explain the uses of dummy variable for
measuring the change in parameters
over time. What is the use of dummy
variable in seasonal analysis? Explain.

| 5+5=10
#oed A ARTG (&Y 7' RTHRFEER oo
@A IR T W, T T Agfes
fiorR crae AfSwe o e U=+
=7 AN A
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(7)

Or / 9241

Explain how specification error may
arise if irrelevant variable is included in a

. linear regression model. Explain the
consequences of specification error. 4+6=10

S voed wel Rew R @ @ema
Ted W IR 2 R FOA ASPTR AN
01

* k%
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